

Name / Address

1600 MLK Dr Jefferson, TX 75657

O: 903-792-7262 F: 903-793-6655

Jefferson Independent School District

Date Estimate # 6/7/2024 23972

Qty	Description	U/M	Rate	Total
	IP Camera and Access Control Additions			
	Elementary Campus - Pedestrian Gates and Kitchen Door			
- 1	Isonas IP Based Access Control System - per door: Isonas RC-04		2,000.00	2,000.0
	Reader-Controller, Door Lock, Door Contact, and Cabling.	DE DESTRU		
1	Installation of all wiring, proximity card readers, door lock, door contacts, and associated hardware - per door		750.00	750.0
4	IPbridge-2 Isonas IP Bridge for 2 Doors		1,160.00	4,640.0
4	AX-AL400ULM Altronix Power Supply with back up batteries	ea	410.00	1,640.0
4	SN-GL1FL Fail-Safe Gate Lock, includes installation		1,075.00	4,300.0
	HID Signo 40 Reader, includes installation		790.00	6,320.0
4	Ditek DTK-4LVLPCR with ground rod, includes installation		285.00	1,140.0
4	Emergency Release Button with Outdoor Alarmed Cover, Cabling, and Installation		565.00	2,260.0
4	Gate Closer, includes installation		865.00	3,460.0
	Conduit - per ft		4.75	665.0
	Junior High Campus - Pedestrian Gate, Library, Teacher's Lounge, Kitchen Door			
3	Isonas IP Based Access Control System - per door: Isonas RC-04 Reader-Controller, Door Lock, Door Contact, and Cabling.	Jones Y	2,000.00	6,000.0
3	Installation of all wiring, proximity card readers, door lock, door contacts, and associated hardware - per door		750.00	2,250.0
1	IPbridge-2 Isonas IP Bridge for 2 Doors	100 30 0	1,160.00	1,160.0
	SN-GL1FL Fail-Safe Gate Lock, includes installation		1,075.00	1,075.0
	HID Signo 40 Reader, includes installation	Martin Committee	790.00	1,580.0
1	Ditek DTK-4LVLPCR with ground rod, includes installation		285.00	285.0
1 1	Emergency Release Button with Outdoor Alarmed Cover, Cabling, and		565.00	565.0
2	AX-AL400ULM Altronix Power Supply with back up batteries	ea	410.00	820.0
LIC#B	13758	Subtot	hal	
		Jubiotal		
		Sales Tax (0.0%)		
		Total		



O: 903-792-7262 F: 903-793-6655

Quote Date Estimate

23972

6/7/2024

703-172-1202 1:703-173-0033
Name / Address
lefferson Independent School District
1600 MLK Dr
lefferson, TX 75657

Qty	Description	U/M	Rate	Total
1	Gate Closer, includes installation		865.00	865.0
- 1	Desk Mounted Door Release Button, includes installation		325.00	325.0
60	Conduit - per ft		4.75	285.0
	***Teacher's lounge door to be replaced by customer prior to access control			
	installation. Pedestrian gate to be installed by custmoer prior to access control			
	installation.			
	High School Campus - Library, Teacher's Workroom, Kitchen Dorr, Field	-		
	House Door and Camera, Ag Shop Camera			
4	Isonas IP Based Access Control System - per door: Isonas RC-04		2,000.00	8,000.0
	Reader-Controller, Door Lock, Door Contact, and Cabling	N S		
4	Installation of all wiring, proximity card readers, door lock, door contacts, and		750.00	3,000.0
	associated hardware - per door			
1	Desk Mounted Door Release Button, includes installation		325.00	325.0
1	Touch Sense Bar, includes installation - per door		785.00	785.0
1	Marks USA Panic Bar 48", includes installation	9 3	865.00	865.0
1	AX-AL400ULM Altronix Power Supply with back up batteries	ea	410.00	410.0
	M-46-FW Advidia 4 Megapixel IP Camera	ea	300.00	600.0
1	M-WM-JB-Mini Wall Mount Bracket with Junction Box for M-46-FW	ea	53.00	53.0
500	Cat6 Wire - per ft	ft	0.28	140.0
2	Installation - per camera, includes installing network drop and set up/		295.00	590.0
	configuration of camera	-		
	Stadium Cameras			
1	WV-S8574L i-Pro 4x4K Multi-Sensor Dome Camera with AI Engine	THE LINE	3,385.00	3,385.0
1	QWL501-W, QSR503-W Mounting Bracket WV-S8574L		345.00	345.0
	M-87-V Advidia 4K IP Dome Camera	ea	545.00	3,270.0
6	M-WM-JB Wall Mount Bracket with Junction Box for M-87-V	ea	57.00	342.0
1,500	Cat6 Wire - per ft	A	0.28	420.0
LIC#B	3758	Subtot	:al	
		Sales Tax (0.0%)		
		Total		



O: 903-792-7262 F: 903-793-6655 Name / Address Jefferson Independent School District 1600 MLK Dr Jefferson, TX 75657

Date	Estimate #		
6/7/2024	23972		

Qty	Description	U/M	Rate	Total
7	Installation - per camera, includes installing network drop and set up/		295,00	2,065.00
	configuration of camera			
	Power and wireless network provided by customer.			
	Three year parts* and labor warranty.			
	*Isonas readers have a one year parts warranty.			
	*Advida cameras have a four year parts warranty			
	Region 8 TIPS #220105			
	Region 6 111 5 #220103			
LIC#B	13758	Subto	tal	\$66,980.0
gulated by		Salas	Tay (0.09/)	
	tment of Public Safety rity Bureau	Sales	Tax (0.0%)	\$0.0
Box 15	999	Tota	1	\$66,980.0
tın, TX 1	78761-5999 10 PSB@txdps.state.tx.us	104		\$00,76U.U



O: 903-792-7262 F: 903-793-6655

Name / Address Jefferson Independent School District 1600 MLK Dr Jefferson, TX 75657

Date	Estimate #	
6/7/2024	23973	

Qty	Description	U/M	Rate	Total
	Touch Sense Bar for the Jr. High			
3	Touch Sense Bar, includes installation - per door		785.00	2,355.0
	Three year parts* and labor warranty.		A responsibility	
	Region 8 TIPS #220105			
LIC#B	13758	Subtot	al	\$2,355.0
gulated by: tas Department of Public Safety vate Security Bureau D. Box 15999 stin, TX 78761-5999		Sales	Tax (0.0%)	\$0.0
		Total		\$2,355.0



O: 903-792-7262 F: 903-793-6655

Name / Address Jefferson Independent School District 1600 MLK Dr Jefferson, TX 75657

Date	Estimate #		
6/7/2024	23974		

Qty	Description	U/M	Rate	Total
	Isonas PAC License			
1	Pure Access Cloud License for 21-50 doors, term of 1 year	ea	1,500.00	1,500.0
		l.		
	-			
•				
LIC#B	13758	Subtot	al	\$1,500.0
egulated by: exas Department of Public Safety ivate Security Bureau O. Box 15999 ustin, TX 78761-5999		Sales Tax (0.0%)		\$0.0
		Total		\$1,500.0